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2 42,834
= 9,817
2 23,222
VISIEDTEES RS 75,873 25,000 50,873
OIHRI| HSHSTY| 22|
25,000,000 1% 25,000
2 12,500
= 3,750
2 8,750
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= 14,472
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483,875
1,657,551
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01 Al£HI 4,093,527 2,634,421 1,459,106
O=C02 =ItRIIALE 4,022,765,000& 4,022,765
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471,7453 x150ha 70,762

35,381
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360,000& 20 7,200
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A ME=X

M BE XM (SUHSAL/LY - A4E)
o9l NREY 2sT E4 (S5l &2
o ) - o HAc
A B3 C9(30) - MRAY - B2 Ao il b o B2
OMEN=Z S AES 22t
400,000,0002 1.89/100 7,560
03 Al& S H| 2,880 2,505 285
OMENZZ S AR ALY
400,000,000 %0.72/100 2,880
SEsF EH(RA) 32,760 2,760 30,000
201 LByl 2,760 2,760 0
02 2| 2,760 2,760 0
oszSE £23 230,008 +128 2,760
401 Al&HIL 20| 30,000 0 30,000
01 Al&H] 30,000 0 30,000
OB 2& SYAILE TM
30,000, 0002 *14! 30,000
ZoEx M A 963,487 1,937,991 A974,504
3 250,000
= 191,000
2 522,487
=XZ2 EMAL 320,000 368,000 48,000
= 116,000
2 204,000
401 Al&HIL 20| 320,000 368,000 48,000
= 116,000
2 204,000
01 Al&H] 320,000 368,000 48,000
OMEEB =XT2 AS22IAY
150,000, 0002 * 14! 150,000
= 45,000
2 105,000
OZA% HS2AYEE LRAIIAY
170,000,0002! 14! 170,000
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2 99,000
CASMBAEY 533,600 1,405,040 ABT71,440
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207 HPIHLHI 30,000 0 30,000
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3 250,000
= 75,000
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= 175,000
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sX&EGH2SH 66,787 61,851 4,936
101 QI24H| 52,787 47,851 4,936
04 JIZtMZ22XsSEx 52,787 47,851 4,936
O=sA&ESH 2] 34,9102 x6Y x220 46,082
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201 LEr23d| 6,000 6,000 0
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202 Ol 2,500 2,500 0
01 =LA b 2,500 2,500 0
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